T

1/N,, dN, /d mean p_[GeV]"

Ratio to ATLAS

13000 GeV pp
S

[ I T I T I T I T | T I I T I ]
B <pT> (ATLAS UE in Z production) |
3 I —
B m  ATLAS -
| -.g-- Pythia 6.428 391 _
- Pythia 6.428 393 ]
2.5 o Ppythia 6.428 394 ’
— --¥-- Pythia 6.428 395 -
2 | —
1.5 — M, —
- /A u \i —
- g “\; ]
/
1 __ n,"’. \‘ __
05— /™ | —
I \, _|
- !\.- —
.

 m et S _
| N T = S S E N R P W
- & £
2 - A -
- 7
— ‘k& .
. .
L l T
B - i & ]

1 i\: p g PN AR { N
‘*rﬁ ‘0. Y ﬂ ,.;'.‘f |
— N 15 ‘;i;\ 4 J." " -
o i\ '. /E ; i : IH\ .

¥Ry &3 G am
i ‘:}' 3 %’C‘@i%}' od
0.5 BRSOy

iy ] I. N ¥ ‘Q“ uh

1 1 | 1 1 1 1 | . 6: ;I'T |J‘:| n lL‘u-h n

1 3

Mean pT/dr] do

Rivet 3.1.10, = 2.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


